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Math 314 Matrix Theory
Exam 2

Show all work. How you get your answer is just as important, if not more important, than
the answer itself. If you think it, write it!

1. (20 pts.) Find, using any method {other than psychic powers), the determinant of the
matrix

1 2 1 ;
A o= o -1 3 ;i
4 4 2 '
Is this matrix invertible?
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2. (15 pts.) Explain why the set of vectors
W ={(z,y,2) |z +y+2z=1}

is not a subspace of R>.

i/
(“‘ﬂ.@a yua \,»Jc_,.»j‘

‘i”'\ Py f\/\ﬂhf‘jjg PN NS

y =0 F\V s L
v 0x ) O F\ ) v
040 e o tee o BISPOUC.

i
“-»\ 3
¥ W bk
(1,9,97, (f’?,zl,uJ &

=7 %l
e = (00 e ASs T =T EL
@ | SPNTIVORRDE-NEE NE U0 A

() 2w * (2,9.0) hers Leor o) s F)
& Jufw go B UURS W= A

L
DN (maﬁ)%m-v‘z(@)xm( £l

C,ei.i?}(‘ 1’21 P

{4 D (:,,() =3 %)

g_‘ A Gy G LA, tf»/ﬁ,\k (J-'O . /j
Qf ’\/uj i _




3. (25 pts.) Show that the system of equations Az = b, where

-1 1 2
A= 1 -2 1 andb= 2 o
0 1 -1 R

is not consistent. Find the least squares solution to this sytem, i.e., the value of Ax
closest to b.
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4.{20 pts.) For the matrix

1 2 1 0
A=1{12 1 3 2
1 1 1 1

find bases for, and the dimensions of, the row, column, and null spaces of A.
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5. (20 pts.) Find all of the solutions to the equation Az = b, where

12 2 1 -2
A=12 4 3 3] andb= | -2
1 2 1 2 0
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Name:

Exam 2

M314 Matrix Theory

Exams provide you the student with an opportunity to demonstrate
your understanding of the techniques presented in the course. So:

Show all work. The steps you take to your answer are just as important, if not more
important, than the answer itself. If you think it, write it!

Solutrons

1. (20 pts.) Find, using any method (other than psychic powers), the determinant of the

matrix
-1 0 1 2
/] = 3 -3 1 1
0o 2 0 3
1 -1 1 1
Is this matrix invertible? _ X
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5. A friend of yours runs up to you and says ‘Look I've found these three vectors uy, va, v
in R? that are linearly independent!” Explain how you know, without even looking at the
vectors, that your friend is wrong (again).
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3.The system of equations

1 1 1 1 1 0 0 0 11 0 0 14 -5 -1 0
2 2 3 4 0 1 0 0 0 0 1 0 —-24 9 2 0
row-reduces to
3 3 -1 -6 0 0 1 0 0O 0 0 1 ¥ -4 -1 0
1 1 2 3 0 0 0 1 0 0 , 0 0 1 -1 0 1
A 1 K S

If we call the left-hand side of the first pair of matrices A, use this row-reduction
information to find the dimensions and bases for the subspaces Row(A), Nul(A), and
Row(AT).

(5 pts. for each subspace.)

e \“u 45\/\ -0 (oIS
(Lol e lesie (ﬂ’\i A/’}J\J s ((> n .

£ RF (: (0>(7) e B (ONya

Q
§
&
J

Ay, & Nl har one kgm WJJ

[ Sl



| N e ]
T Lo o

1 -1
3. Do the vectors (ml), ( ), ( 1 ) and (
3 1

) span R3?
Are they linearly independent?
Can you find a subset, of this collection of vectors which forms a basis for R3?
(10 pte. for spanuning, 10 pts. for lin indep, 5 pts. for basis.)
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